HRE1ZD1 EXIES LD

e B SRk 2 14 RE
T = S = F09000112%
T =+ 4 MEB IR AR i TF (D2 8)
®150mm V UEAK L L =205. 9m
O75mm H I VPEMEL (JEEE)
L =47. Tm
NI v R — L T 52 Ay

L% B R mwe sro v s
<R VIR T L& By
i I 1=

USEK-ZES R 13




21

09000115




HE 1501 CHAIRKIH)

H JE Rk 2 1A

T F % = ¥09000113%

T x4 BERRAIEERE T AKX ER SO RAET
+T —3
it T —3

MTIHERE L=391. 7m

BAEsRiETY A2y t=5m A=1, 970m

DX T T —3K

T # #t =




A1 501 E RIS ONED

F B Rk 2 1 4R
T~ F F = F09000114%
T~ F 4% BERR e T I XG5 ILEE T

U A —n"—1 4T —3

fTHER 1=268. 4m
FHEMKIE Y 22 FBJE t =4 cm
A=2, 100mn

DX TR T —

T % #f %




	09000114.pdf
	Sheet1


